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  2006جيل  1ورقة عمل 

+𝒇غير موجودة لأن  𝒇`(𝒙)( معتمدا على الشكل المجاور فإن 1
` (𝒙)    ≠ 𝒇−

` (𝒙)   عند𝒙  : تساوي 

                                                                                         a) 0                                   b) 2 

 

                                                                                           c) 3                                d) 6 

 

 

 

𝒇(𝒙)( إذا كان 2 =  𝒆√𝒙  فإن𝒇`(𝒙) : تساوي 

    a ) √𝒙 𝒆√𝒙                                                        b) 
𝟏

√𝒙
 𝒆√𝒙        

 

 

    c ) 
𝟏

𝟐√𝒙
 𝒆√𝒙                                                       d) 𝟐√𝒙 𝒆√𝒙 

 

 

𝒇(𝒙)إذا كان ( 3  =  𝐥𝐧 √𝒙
𝟑

  −  𝐜𝐨𝐬
𝝅

𝟐
 تساوي :  𝒇`(𝒙)فإن    

 a ) 
𝟏

𝟑𝒙
 +  𝐬𝐢𝐧

𝝅

𝟐
                                                         b ) 

𝟑

𝒙
  +  𝐬𝐢𝐧

𝝅

𝟐
 

 

 

c ) 
𝟏

𝟑𝒙
                                                                          d) 

𝟑

𝒙
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𝒇(𝒙)إذا كان (  4  =  𝐥𝐧
𝒆𝒙

√𝒙
 تساوي : 𝒇`(𝒙)فإن    

  a ) 𝒆𝒙 − 
𝟏

𝟐√𝒙
                                                    b ) 𝟏 −  

𝟏

𝟐√𝒙
   

 

  c )  𝟏 −  
𝟏

𝒙
                                                          d ) 𝟏 −  

𝟏

𝟐𝒙
 

 

𝒇(𝒙)( إذا كان 5 =  
𝝅

𝒔𝒆𝒄𝒙
)`𝒇فإن  

𝝅

𝟔
 تساوي : (

 

   a) 
𝝅

𝟐
                                                                       b) − 

𝝅

𝟐
     

 

      c)  
𝝅√𝟑

𝟐
                                                                  d) −

𝝅√𝟑

𝟐
     

 

 

𝒇(𝒙)( إذا كان  6  =  𝒆𝒙  +  𝒆𝟒    فإن𝒇`(𝟒)   : تساوي 

 

  a) 𝒆𝟒                                                                b) 𝟒𝒆𝟒 

 

 c) 𝒆𝟖                                                                    d) 𝟐𝒆𝟒 

 

 

  


